pent- B

ser s : 289/26
English Comprehension ML

Read The Passge and choose the most appropriate option
Artificial intelligence, or Al, is a technology that allows machines to “think” and perform tasks

that normally require human intelligence. Many people already use Al in daily life, sometimes
without noticing it. For example, when you use a voice assistant on your phone to set an
alarm or ask for directions, you are using Al. Similarly, when streaming platforms suggest
movies or songs you might like, Al is working in the background.

While Al makes tasks easier, it can also raise some concerns. Some people worry that
machines may take away human jobs. For instance, if robots can do factory work more
quickly, companies may not need as many workers. On the other hand, Al can also create
new opportunities in areas like healthcare, education, and transportation. Doctors, for
example, use Al to study medical pictures and find illnesses more accurately.

Experts believe Al is not here to replace humans, but to support them. If used wisely, it can
save time, reduce mistakes, and improve lives. However, people must also learn how to use
it responsibly so that the benefits are greater than the risks.

What is Al mainly described as in the passage?

a) A type of robot only used in factories.

b) A technology that allows machines to act intelligently.

¢) A computer used only by doctors.

d) A machine that replaces humans completely.

Which everyday examples of Al are mentioned in the passage?
a) Voice assistants and streaming recommendations.

b) Robot vacuum cleaners and self-driving cars.

¢) Social media feed and face recognition.

d) Smart thermostats and email spam filters.

What is one concern people have about Al?

a) It makes cities louder.

b) It can take human jobs.

¢) It increases reading habits.

d) It grows food faster.

What positive role can Al play in healthcare according to the passage?
a) Designing new medicines.

b) Making hospitals quieter.

c) Helping doctors identify diseases more accurately.

d) Replacing nurses completely.

What can be inferred about the future of Al from the passage?
a) Al will control all human decisions

b) Al will disappear soon.

c) Al has both risks and benefits dépe'nding on how it is used.
d) Al will only be used by students.
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Of¥RAct Bell AFMHL AURAGR HEo] BHH X 3H B?
A) slRaL ¥ = Hel Gelol 8,

B) 5120 ¥ Ul SMEs ol @IS dtll 26l .

C) 5RQ ¥ &l Fozrole cquRAel W B,

D) 5RQ ¥ ARsRell oA 2yd B,

ololl WatSell Gualol Alslal 3cll Al w2 53l o B2
A) Aol B¥ed Aol Gualol udl o .

B) ARAL ULAGIR IYAUA M2 U0 e cloll ks B,

C) Aol 250llAlY Beldot loteltell sl af B,

D) U810l AGR YAl lA3Nol UuHR5AL Ul AY B,

'Adlelel AR RsARE WA 2023'l yaed &4 9 B2
A) ARl ALRAGR 2JANAR UsSA.

B) c 2029 Yl cur RRzct AARAA YA s2¢ll,

C) elR A olcll sl2AEL (AR 219t 534,

D) et Geollal Hell Yrew yYul yil wsdl.

ol Aot Sl st (AAeatell WaKR Yreauo] AHEBS Uscl U qat B2
A) ARAGR gHARNY 32l] ofsilel Al B,

B) L&l Mosoyct WS otell Avtdl.

C) ULRAGR YReal HIA 25ellcl UR AR otell,

D) eltalR 8lell cilselot el S usllaLctt SuHHL Y5t B

Which type of bill cannot be returned by the President for reconsideration after being
passed by Parliament?

HUE 6lRLUAMR &l ugl epuld sl Ysizell QaLs Yol 12 uzd el
Ascll olefl?

A) Appropriation Bill --ue]Hl € el (Glct

B) Ordinary bill -4l Mol (Rt

C) Constitutional Amendment Bill-6{ti2elal YL @Qet

D) Money Bill -- sl

Which Commission was set up to review Centre-State relations in India?

ClReloll Bos-Aet oltllofl et s2cll 12 56 wololl 2246l s2cul 2l 5cll?

Options:
A) Sarkaria Commission-—42 $L321L" 2]

B) Punchhi Commission --lja-lﬂ_ w0l



13

14

15

16

17

C) Mandal Commission---HSEL 202t

D) Kelkar Commission---5G52 32001

What does the Preamble of the Indian Constitution signify?
el citRglell Yrelldlell 9 ealld &2

A) Division of powers between centre and states-- $o% Wol A% L), %{ﬂwnqi
(Qeitesst '

B) Powers of the President—-21%2U(do{l ¥riizdl

C) The goals and aspirations of the people of India--GUR cloll’ %otcilall gl wal
vLsiatdl

D) Guidelines for foreign policy--[aéal oll[d H2etl Hiolesisl

How many categories of Fundamental Rights are outlined in the Indian Constitution?

etrclal olenRl Hueycd wESRA d2cll ARl ealclauui uicll B2
A) Five---u(

B) Six-—-&9

C) Seven---Alcl

D) Eight-—-0{l6

Unlike Fundamental Rights, why are Directive Principles of State Policy not enforceable by
courts?

A%2Usll oAt REs Rgicll, Yooy UL QU a2l @2l ol 12

o] 831 sl otefl?

A) They are guidelines, not legally binding---

A Hleels ol B, stojell 9 outaistdl otell
B) They are outdated principles—d %ol Rgidl ®

C) They apply only to states, not the Union—
A 5 A2 A U3 B, Josd otdl

D) They require parliamentary approval---a el 13[“(151 %3ﬂ 8

Who administers the oath of office to the President of India?
llRetell A UAA UE 28Rl sclloll AU AL UW B?

A) Vice President--- GU 1 u(d

B) Prime Minister--- Sl Ytllol

C) Chief Justice of India--- GURctoll Yual o2A21t]3l
D) Speaker of Lok Sabha--Glls¥ellell wLt2lel

What is the minimum time period required for public notice before introducing a
Constitutional Amendment Bill in Parliament?

el cluuRela yYuRl Qs 2% scll UBE 132 ARYU M2 o2jotctit AHANA
S2cll 8l ASA?
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A) One week — W Uscll(32
B) Two weeks --- 6l asclS2u
C) One month - W§ M@l

D) No notice required - 8l&5 al@U{l %32 otall
How is the Vice President of India elected?

GReell GuRARUL(l el 3cll A s B2

A) By the Lok Sabha only--$5ct GllSUGH GL3L

B) By an electoral college of both the Houses of Parliament--{AEall ial OLéldl lj\alac'll
yellotl el Hsa gzt

C) By the Rajya Sabha only--—-$5cl %211 gl3L

D) By the President-—-20%2U(Q gL
Who among has the power to commute the death sentence of a convict in a State?

A% AR cusRell Heyésoll wmal detsclioll At oll WA B2

‘A) Ministry of Law and Justice-—-Sl2LEL W\ oAl HALERY

B) The Chief Minister——3u13{=(]
C) The Governor---1%2L UG
D) The Chief Justice---4u21 o21l2u {9l

Which constitutional body is responsible for auditing government expenditure?
AlRclell 56 ARQURS el Us12ell WAl UslAL s2al gy YAl B2

A) Comptroller and Auditor General of India (CAG)-—- MlRcloll QUL A AWRe2? %olRE
(CAG)

B) Finance Commission-—-OﬂQllﬂﬂ 5@21@

C) Union Public Service Commission---?g[a.aici s Al sRatet

D) Election Commission of India-—j2@{lt20ot

Which organization became the first Indian NGO to win the 2025 Magsaysay Award?
20250l ARAA Y512 Yetoll2 YU a2l @ot-22513 2zel (NGO) 58 &?

A) Pratham -- YaH

B) Educate Girls -~ A%gJ}2 el

C) Smile Foundation - RHEE $1God 9ol
D) Teach For India-- 3l SR SRl

Who has been appointed as the IMF Executive Director for a three-year term starting
August 28, 20257

28 2012, 2025 A3 Ul AR ardoll sLASA B IMFoll UsBsyRet Brser tdly

8 (35t scumi wicay B2
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A) Arvind Subramanian --- WR(dg HoHRIH
B) Raghuram Rajan - 2¢RIM Aol
C) Shaktikanta Das - 25l €1

D) Urjit Patel - Gl¥d uzet

What is the name of India’s first fully indigenous 32-bit microprocessor developed for space
missions?
Aalslel Mot HE [QsatacuHi WA et Yux Hyal el 32-0fl2

HISSAURS] ollH 9 &7

A) Bharat-Chip X - ¢l d-RuU X

B) Shakti-2100 --- 2(51-2100

C) Vikram-3201 - (A$H-3201

D) Aryabhata-2001 --- 2l®lg-2001

Who is the owner of Google?
opletell Hilds s B?

A) Sundar Pichhai - €2 Qe
B) Alphabet Inc --- AEHLAR S0
C) Elon Musk - W Alet. 1z

D) Mark Zuckerberg -~ M5 93820401
Who devéloped and manages the Unified Payments Interface (UPI) in India?
ARl YRs8s ANeed BozBU (UPY) 5, [Asicy] uA auctol 53 B2

A) National Payments Corporation of india --- a2lelc{ URe2 SR 35 S
B) Reserve Bank of India -— Ro3cl dls g SE32u

C) State Bank of India - 322 &5 Als Sl

D) Phone Pe - §lot U

Who has been elected as the 15th Vice President of India?
ARl 155 QU U 3 A zam sy 7

A) Jagdeep Dhankhar - %9ElU iUl
B) Justice Sudershan Reddy - o2italltllat ofl. Ye oot 24
C) Venkaiah Naidu — 32l oll2s

D) CP Radhakrishnan - (L. UL, 2Atugwlel

In which city was the SCO meeting held?
sco HlEaL s wdmi AuteS scll

A) Tianjin - [Qalel([F et
B) Beijing - A1

Q) Shanghéi — gl
D) Astana - ¥cllell
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What was the name of the mission that carried Shubhanshu Shukla to the international
Space.Station in 20257

2025H1 Yoy Ysellal wicRRFA wdRet Has (1) Yell ces 2 Al Matoto] ottn
9 &q? |

A) Gaganyaan --- Ol2lel2llet

B) Chandrayaan-3 - {s2lle1-3

C) Axiom Mission 4 - V(ER2AM Ralet ¥

D) Artemis | — WS |

What is the full form of MOM in the context of India's space program?
ClRcloll uUaslel sllsuell AeelHl MoM of Y a3y g 82

A) Martian Orbital Mission -— HU(22tet w(zet Ratet
B) Mars Observation Mission —— H13l w0eoscalel Rotet
C) Moon Orbiter Mission - Yot 322 MLt

D) Mars Orbiter Mission - HI2l 20(cl2? Ralot

What was the name of the mission launched to rescue Indians from Ukraine during the
2022 crisis?

2022 oll ¥s2 e[ Yyotuiell edlaA ctaudal WE 243 sAde Meloto] ottt 9
&q?

A) Operation Vande Bharat --- 30UR2lol ci?

B) Operation Maitri - U 2lel 1]

C) Operation Ganga -— U2 9lel 2(9(

D) Operation Devi Shakti --- 3QU23lei & [l 2((5el
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Date: Time: 120 Min. Marks: 120
Candidate Sign. : Seat No.
A 4 Meltingpoint oficeis ____ Kelvin.
WRge] dActtlolg 3ot B.
(A) 37 (B) 273
(C) 100 (D)0
3.{ +2) 1calorie=____ Joule.
15cl= _ ot
(A) 4.186 (B) 4.816
(C)41.86 (D) 481.6
R £+ Unit of specific heat in CGSis ____
@Bl Guell cGs AsH B,
(A) cal/kg °c (B) cal/g °c
(C)J/kg °c (D) J/g °c
3[., 4L 1lbar=___ N/m2%
1lR=__ N/m2
(A)a0? (B) 104
(C) 10° (D) 106
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lhp=__  watt.

Thp= __ dle.

(A) 476

(C) 746

Light waves are _____ waves.
ystat 200 200 B,

(A) longitudinal 2Lct

(C) mechanical waves 2i(As
1A°=

1A=

(A) 10 ¢m

(C) 108 cm

Velocity of sound in air at 0° ¢ temperature is )

0° ¢ cllUHLal scitHl tellall Aot .

(A) 332 m/s

(C) 332 km/s

Frequency of sound in audible range is .

sl QrclRHl el wgRA Raciz B,

(A) 20 Hz - 200 kHz
(C) 10 Hz - 20 Hz

Refractive index of water is .

wllell aslecatis B,

(A) 1.50

(C)1.33

(B) 740

(D) 470

(B) transverse Goldlcl

(D) none As UL o1&l

(B) 10%° m

(D) 108 m

(B)337 m/s

(D) 337 m/minute

(B) 20 Hz - 20 kHz
(D) 0 Hz - 10 Hz

(B) 1.77

(D) 1.47

.
.
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Unit of impulse of force is

ool Aleldell ASH 8.

(A) kg m/s (B) kg c/s
(C) gc/s (D) none As UL o8l

Product of mass and velocity is called .

UELdoll €0 U Aol JJRletsnal 58 8.
(A) momentum AotHLel (B) deceleration yld yaat
(C) inertia %Sccl (D) acceleration YAol

Full name of SONAR is .

SONAR o] Y&l alti ____ B,

(A) System of Navigation and Research (B) Sound Navigation and Ranging
(C) Sound Navigation and Ranging (D) Sound of Navigation and Research
Displacement per unit time made by a moving object is called

Aot Ueldl AsH UHAML S WULeAidRA sdcl,
(A) acceleration Ydol “(B) average velocity ¥3213l Aat
(C) speed 35U (D) velocity ot

If velocity is unchanged, then acceleration will be .

%l Aol AUAA dl YAl :
(A) increased a® (B) zero 9o UL
(C) decreased ue (D) constant By WA

The formula for the speed of an object moving in circle is .
adana oA sl Ueld oll 35us] Yot 8.

(A) (v-u)/ t (B) d/t

(C) 2mrt (D) 2nr/t
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The universal constant G =

WdBs wunis G = :

(A) 6.67 x 10** N m? /kg? (B) 0. 667 x 10** n m? /kg?
(C) 6.67 x 1011 N m? /kg? (D) 66.7 x 10 N m? /kg?

The absolute refractive index of ordinary glass is .

AWMU LA RV cslotctatls B,
(A)1 (B) 1.33
(€) 1.5 (D) 2.4

Which color of light is most deviated when white light is split by a prism?-

RosH od el UFE ysitell [Qetcsetil st 2910l ysiat Well ay @Quetst Wi &2
(A) violet oocll (B) blue clteoll
(C) green cllAl (D) red GUL&

Equation for electric chargeis ____.

(Qgteure] ¥t B,

(AyQ=1t (B)a=I/t
(c)ya=t/l (D)Q=1t?

What is the method of producing 3-D images using laser beam in photography called?

AU HL QR (3200 gL 3-D 8A% Geur scllol ugldal 53 B.
(A) topography 210Ul (B) oceanography xtella1L$l
(C) holography &clau gl (D) radiology 320l

mirror is useful as a side view mirror.
AU WS @ AR ddly GuAll 8.

(A) simple AEL (B) concave vidalln

(C) convex oll@atllnn (D) none WS UL o1&l
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BEXR (23) If the mass of an object is doubled, what is its kinetic energy?
" Ao} €O 0HY] sRAML AUA Al doll oA Gl 3zl aa?

(A) double «tal (B) half ust{l
(C) four times AR 21Q(l (D) constant AN

SL’ (24 Number of electrons, protons and neutrons in the element sCare. .

6C12 clactHi 8ASEt, YAlot A oyglotell Auall W5 Sl B,
(A) 6,12, 6 (B) 12, 6, 12
(C)6,6,6 (D) 12, 12, 12

KL (25 Planets revolved around the Sun due to force.
Aaal 5120 U8 Yol wRUY 52 BD.

(A) gravitational :ugccusbigt (B) frictional tiy@L
(C) magnetic Ju sl (D) muscular 113 sl

g{ (26 1lHertz=___

1880 = .
(A) 1 vibrations/minute 1 $Ust/AlAe (B) 600 vibrations/minute 600 $Ust/M (e
{C) 60 vibrations/minute 60 $uct/RARAe (D) 10 vibrations/minute 10 $Ust/AAe

S; (23  According to the rule of thumb, what direction does the thumb of the right-hand point to?

FHEW Bleotl B{2Yslell [ Yoyol, o6l Aoll Rou e2id B?
(A) electric current (Agjctycus (B) magnetic field Jusla &=

(C) magnetic force 2_{0{5121 ol (D) motion of conductor cltese{l aa

S (28F  What is the value of g?
gl HRU 32 B?
(A) 9.8 m/sec? (B) 9.8 cm/sec?
(C) 9.8 m%/sec? (D) 9.8 m?/sec
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The carbon dating method is used to determine . .
stolot 3@0L ualdell GUalIl ___ etssl sRal HIZ w B,
(A) structure of soil layer ¢jRs] ¥R sitRel (B) age of fossils U@AU{l GHRA iElw
(C) structure of fossils w(ENo] {0 (D) artificial selection (1 uieo(loll Guallol

If the periodic time of a wave is 0.02 seconds, then how many Hz is its frequency?

Al A5 A3leAl Alclclstn 0.02 AseS B Al Aol g dect Hz we?

(A) 50 (B) 20
(C)5 (D)2
Escape velocity of the earth is km/second.

yecllall uctiatet Aot _ (3.1l /As0s B.

(A)11.2 (B)11.8
(C)12.1 (D) 11.5
Velocity of light is km/second.

ysiael Aot _ (5.4 /As05 8.
(A) 1lakh 1 (B) 2 lakh ? cltwl
(C) 3 lakh 3 W (D) 4 lakh ¥ Gllul

Fuse wire is always connected with .

0 cllAR SN AU ASAA & B

(A) neutral s3Jgct (B) earthing w&llat
(C) live cugSel ¥ pcict (D) none Ws UL ol&l
1foot=___ nanometer

182 = oollfler

(A) 36.0 x 107 (B) 3.5 x 10°

(C) 3.5 x 106 (D) 30.0 x 107
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Full name of LCD is .

LCD of Y3 oltd __ .
(A) Liquid Central Display (B) Liquid Card Database
(C) Liquid Crystal Display (D) Liquid Control Display

Wavelength of X-rays is .

a-(3200e0l oL cones Sl B,

(A)109m-102% m (BY10?m -101% m
(C)108m-10°m (D)102m -108 m

lenses do people use with farsightedness.

EldaRofl vl wRtacdl calsal  Qodoll GuAloL 52 B,
(A) convex al(3allit | (B) concave idalln
(C) cylindrical <loust? (D) plane-convex YHdct-oi@atln

Acceleration is the rate of change of .

YAl Ae@ AHAU AU HEALCAL all €R.
(A) position 8lel (B) velocity Aot
(C) displacement ¥UloticlR (D) momentum A9Hlet

Car odometer indicates which of the following physical quantity?

5120] S\l 58 clllAds AR} Hiuet e2ld B?
(A) displacement of car 8lR¢] eloticl? (B) distance travelled by car 512 SIUG iR
(C) speed of car sl2<{l 35U (D) acceleration of car $(2<{l 35U

Unit of momentumis __ .

AotMtetefl AU B,

(A) kg m/s (B) kg/ms
(C) kg m/s? (D) m/s



7’-} 41 Who gave the theory of relativity?

?{ ey

F7 (43)

Aetatesll Reic 518 wrRll?

(A) Copernicus SlUR(As¥ (B) Einstein BllBer2ltol
(C) Kepler 5\wel? (D) Galileo AA[A=1
White light is made up of colors.

At yslae] (31 200qf walg B.

(A) 5 (B) 6
(€7 (D)3
Rocket works according to law of

Ade oll [ uR st 52 .
(A) energy conservation Gl 28l (B) momentum conservation QRLHLel A&l
(C) Coulomb gelol (D) Ampere WrlaR

Unit of relative density is .

Al dotcllol ASH 8,
(A) Kg/ m? (B) g/cm?
(C) kg/m? (D) unitless AsH At

On what principle is a submarine designed?

A otoll Ul s Ralc WURA sl w1 &?
(A) Archimedes (5131 (B) Galileo @A
(C) Pascal WSl (D) Newton oj2el

Which radiation did Rutherford discover?
32291 sau [ABRulll u 5312

(A) Alpha aUesl (B) Gamma 2ULHL

(C) X & (D) Ultraviolet vicalall2lA2



qﬂ# 7T waves are used in ECG technique.

L0iser

- 852

ECG eslaAsul A0l AU B,
(A) Ultrasonic W25

(C) Supersonic YU ols

Sl unit of resistivity of the material is

acoll WSl SIASH B,
(A) ohm &K
(C) ohm/meter 2eH/Hle?

Frequency of pure DC is Hz.

96 DColl g Hz B,
(A) infinite Vloicl

(C) 0 9ot

Page !

(B) Infrasonic 8e5l{ls

(D) Audible st

(B) ohm-meter ¥leH-Hle?

(D) meter/ohm Hl2? /20sH

(B) 50

(D) 240

Generally, the color of earthing wire used in the electrical circuit is .

WML Ad, QgcuRuanl auRidl wuellol aR 0Ll Sl B.

(A) black sLou
(C) green cllcul

What causes body weight?

AZRe] clogat Hloll 510 B?

(A) atomic pressure cllclcRBLall €618

(B) red cllcd

(D) yellow lout

(B) mass of body 2(3lell EM

(C) earth gravitational force 11240[101[ OjgcCuSQQLO{UI (D) none Ws UL o8l

Optical fiber works on the principle of .

AlRsc sk _ Reld ynd sl 52 8.

(A) splitting of light
yslale] [Qeuesst

(C) refraction

Yslalej asletctot

(B) total internal reflection of light

ystale] Yol uicdRs urlctdot

(D) none

As ULl gl



Q_g (33F Which instrument is used to measure oiliness?

&L 54

RT 5)

86 e
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Alstel MUl MR 53 Alklol AUAA B?
(A) lactometer AselHle?
(C) spherometer ¥¥A1{22

are the discoveries of Einstein.

AR Satell AU B,

(A) electron and X rays

BAsRlot Al al-(38

(C) photoelectric effect and relativity

SA8AsEs AR A RARQAL

Step down transformer the voltage level.

RUSIBet loUSR @Ry Al B,
(A) increases cLUl?
(C) decreases ©2Ld

Unit of electric field intensity is ;

@Qgc@ell llatctt ot AsH D,
(A) volt/coulomb clce /gciol
{C) Newton/coulomb o3j2et/ Sl

How is energy converted in a loudspeaker?

cll@s alsui Galo] 3uiczal 568 A awa B2

(A) electric to internal energy

gt Gostell AicRs G

(C) sound energy to electric

ool Gostell (Agyet Gl

Page 10 o

(B) pyrometer ut2H{le?

(D) viscometer [@Qz51Hle?

(B) radioactivity and relativity

WAAERQE wA RARQA

(D) radioactivity and X rays

AAAG AL wa a2

(B) keeps constant AAUC AW,

(D) none s UL oi(3

(B) coulomb/meter gclot/HleR

(D) coulomb/ Newton §Glol/oj2et

(B) electric to sound energy

Qg Gaslell LA Gost

(D) chemical to electric

AURARs el @t i
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If the voltage decreases and current increases in the same manner, then power will .

%l l@% A [Agcycle AsHlol A UeisN 62 wA ad QA WeR |
(A) increase cl® (B) be constant {JUN
(C) decrease €12 (D) none ull 4l As Ut o8l

What is the orbit of the planets around the sun like?

Yeloll eu Y&lell sen 3l dla &2
(A) circular gxitst (B) parabola URd 2
(C) ellipsoid Eltigtits(? (D) straight {ltll

How much work in Joule is done if a force of 20 N moves an object 10 meters in its direction?

20 N ol A5 crgal Aoll (Bauni 10 leR ucud Al deell e sl € oeua?

(A) 0.5 (B) 10
(C) 20 (D) 200
Smallest unit of length is .

duleell Al otlell AsH B,
(A) nanometer alolli{l2? (B) micron Ht&slal
(C) angstrom W3REH (D) fermi meter g3{{ {22

Curie is the unit of .

w3 ol Asu B,
(A) temperature cllUHLsl (B) radioactivity 2320 (Q4
(C) heat Gw1 (D) energy Glad

light has maximum energy.

_usladd Al ay Gt sl .
(A) green el (B) red GlLEl

(C) yellow Ulou (D) violet %stotcll
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rays are used in CT scan.

CT (51125 LHUSL) WolMl ol GulloL &l B.

(A) alpha rays aitest (300 (B) X rays & (3200
(C) ultraviolet rays ucalall20Ae (D) beta rays ofl2t (3260
Multiplying centimeters by gives the measurement in inches.

A2 ad opaiauell Suef 1y 1At

(A) 1.54 (B) 3.45
(C) 2.54 . (D) 4.45
Unit of the potential difference is 3

Qg ARAAHotatl cAslelctoll AsH B,

(A) joule &t (B) coulomb e
(C) volt cllce (D) watt cll2
Direction of in the conductor is opposite to the direction of electron.

aes Ml ol R, sdsdletoll Rauell Q3¢ S B,
(A) electric current (Qgjctyclls (B) voltage cllc2os

(C) resistance Al (D) none s UL ol&l

is produced in the area around a conductor when an electric current pass through it.

cles Ml [Qgdyals YRR 52cll, Aol WA QM Geust a2 8.

(A) Electric field (Qgjd@t (B) Magnetic field Jjoisla &2
(C) Gravitational field dJ3<{lat &A (D) none WAt UGl 5165 UL gl
In physics laboratory, is used to detect the presence of electron.

BZoflsuell y2lotauouni @gctetell slosdl asaial U B.

(A) fuse %42 (B) galvanometer Acel{l2?

(C) voltmeter AAceHle? (D) battery Ae3l
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Electric bell works on which principle?

SaAsgls ot s Raid u st 52 82

(A) thermal effect of electric current (B) electromagnet
@Qgctycusell cllat wuR 8AsE\ N2

(C) chemical effect of electric current (D) thermal effect
(Qgjctycgsll AMURS wYR Gullat AR

LED converts the .

LED o 3uicR 83 B.

(A) light energy into electric energy (B) electric energy into light energy
ystel Gxlej (At Gosiui (Agjct Goslo] ustal Gosdui

(C) heat energy into light energy (D) mechanical energy into electric energy
Gut Goslof ustal Gl AlRs Goslo] (Qgct Gosini

Who first discovered radio waves?

ABA 200 AWy 518 sleaut?

(A) H. Hertz R, 882 (B) J. C. Maxwell %. {l. AsAAA
(C) G. Marconi %). H15(c(l (D) Tesla 23l
Full name of LASERis ____.

LASER o] Y3 ol ___ B,

(A) Light Amplification and Solar Equipment Radiation

(B) Light Amplification by Stimulated Emission of Radiation

(C) Light Amplifier System Energy Radiation

(D) Light Ampilification by Solar Emission and Radiation

Who is the inventor of the theory of electromagnetic induction?
(@Qgjet Yotslal YRaet Rituical Aus sQ §?

(A) Boyle sl (B) Faraday 3213

(C) Newton o>[2el (D) Archimedes (S Sl
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[QS (#5)  What color combinations make up color in color television?

20(let 2(ARQeAHT 520 290etl B3t 201 ool B?
(A) red, green, blue ClLd, A, aeoll (B) red, yellow, blue GUA, Jla, areofll
(C) red, green, yellow clld, lA, ol (D) red, yellow, violet cilet, Y1, astotcll

. 10‘6 (#8)  The force applied per unit area is called )

WsH A2ASN €16 Cloldl U 58 8.
((A) density totcll (B) pressure E0BL
(C) work 512l (D) none A5 UQL o8l

; 1“3‘, £7) Instrument used to measure revolution per minute (rpm) is 3

YA (ARe uRAHL (rpm) HIUGL _ Altlotoll BURQDL AL .
(A) tachometer 251122 (B) odometer bﬂﬂ’-ﬂ&?
(C) laser gun AR Olat (D) none Ws UL o1&l

108 (#8)  The small wire of the LED is connected to the pole of the battery.

LED ol olloll cllral A3l Yo A lsaMl wa 8.

(A) positive tel (B) positive and negative Yot ol 1R
(C) negative 8l (D) none A5 UL o1&l
l(’_)ﬁ} (79} diode is always connected in reverse bias.

stals &Rl Rad sty RAHL AscuHl 2d 8.
(A} PN junction PN §52lel (B) LED Ad. 8. SL.
(C) Zener BolR (D) LASER Q™R

” () @0) Thestarsmovefrom ____to

drel sy WA 8.
(A) north, south Gxl?, £(@QL (B) east, west Ydl, uEln

(C) south, north (@R, GxlR (D) west, east WEH, yd
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According to Newton’s second law, F=

oeatoll ol (A Yoyol, F= .

(A) AP/ At (B) APe At

(C) At /AP (D) m/a

Relation between Gand gis ___.

G Aol g Aol del B,

(A) g =G Me*/Re? (B) g = G Me/Re?

(C) =G Me/Re (D) g = G Me?/Re

How much does the Earth’s gravitational force act on an object with a mass of 1 kg?

1 kg €0 tRlclcll Uete] uR yocllo ozcatsl i deq cldl?

(A) 6.67 x 1011 N (B) 9.8 N
(C)1/9.8N (D)19.6 N
lerg=___ Joule

tadl = _ %

(A) 10 (B) 10%°
(C) 107 (D) 107

An object weighs 120 N on the Earth, then its weight on the Moon surface will be .

s Uelede] Yol UR axet 120N B, Al Asgiell AWl uR Aof avet 8.

(A) 120 N (B) 60 N
(C) 20 N (D) 720 N

X-rays are not affected by .

a-(300 Aol [Qretst utu&t o2l
(A) electric (Ag)cl (B) magnetic Juilda

(C) (A) & (B)both  (A) ¥al (B) ol (D) none W5 UL o(&l
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Sky is blue colored due to the of light.
ulstatell cueofl 201, ystalel A 5124 B.

(A) dispersion yslelel (B) diffraction [Qaclot

(C) reflection URlelclot (D) p.olarization yclletctat

Unit of energyis .

Gasloll AsH 8,

(A) ohm &M (B) watt cle

(C) Hertz &8 (D) (kilo watt) (hour) (Bl A2) (scus)

Sound waves do not propagate in .

ool d00 _ HL YARQL WHl o2l

(A) water UlRl (B) glass sl

(C) vacuum gje2utalslel (D) space Aasial
Infrared waves have ____ wavelength than the visible light.

85135 (3200, agAysial sl 29l Golle uRd B
(A) very short U g$l (B) short &8l
(C) medium HE2AH (D) long cicll

The presence of which state of matter makes the sun and stars shine?

actoll 585 wcralell sldlal Al yal U el 20 B?
(A) plasma WclLosHL (B) solid ®let
(C) liquid Ycuél (D) gas cllg)

element is used in solar cell.

AR Al clecloll GUlloL AUl 8.

(A) silicon RAS1et (B) deuterium SY21aAH

(C) zinc %/l (D) aluminum AcRRA2aH
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Rﬁ $3) __ isthe heavy water.
_ AR wel eola B,
(A) D20 (B) H20
(C) CO2 (D} N2

‘, .u] (34} Why is the heavy water used in nuclear reactors?. !
(5@ RAs2Ml R wiall aul HI2 cuR §?

(A) for fission (Quisel W2 (B) for neutron absorption ojglaioll QUNMEL M2

(C) as a catalyst G&lus 3l (D) to slow down neutrons e3jglotal LllHL ULScll

[o{s (95) BTUisameasureof .
BTU____ o Wu ®.

(A) volume §€ (B) area &AM
(C) heat Gxl (D) temperature cltWHLot

I.(,L 36) Magnetic region around the earth is called . i
e yeclloll auutelt AsYotsla [Qadzal 58 B,

(A) van Allen Belt cltol Actat G2 (B) seismic Belt ARAs Ace
(C) circum Pacific Belt u5H-QR(3s Ace (D) none A UL ol

L{"’_ (87+ Channels FM, SW, MW contains i
FM, SW, MW Bl Aetcll y2Lad B,

(A) electric current [HQd yaie (B) resistance WY

(C) voltage % (D) radio waves (320 230

1 49 (8 What waves RADAR use?
SR 5l R0l GUloL 52 8?7

(A) sonic waves Me{ls 201 (B) ultrasound waves AL AlBoS (200

(C) radio waves (320 200 (D) none W5 UL o8l
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'.,{0, (23}  What is the instrument used to measure radioactive radiation?

A3 Al QBN vl Aot 53 B?
(A) radioactivity meter 2320AE2 (A4 Hlez (B) auto radiographer 32l ASA UL 52
(C) Geiger Muller counter dJUE21R HER 51Go2R (D) radio meter (320 122

180 (x80) What is the unit of lens power in Sl units?
SI AsHHL, Qodioll AGA BsH 520 &?

(A) opter w22 (B) diopter StaleR
(C) watt <lle (D) meter Hl22
’,3] (18%) The value of the gravitational force as we go higher above the surface of the earth.

yeclloll Awdlell BH QLUE UR wSA Ax Jzcusdal vae] yeau
(A) increases cfl (B) decreases €2
(C) becomes double (1HQ] &l (D) remains constant w0 @

hg { (#02) For a plane mirror if incident angle is 45°, then reflecting angle will be )
ol AHclet AU URell UL BlaL 45° St A uRgnelldd Slot sy

(A) 60° (B) 90°
(C) 45° (D) 180°

[33 (03 Refractive index of water is ]
wlellell aslelcolis nY

(A) 1.50 : (B) 1.77
(C) 1.33 (D) 1.47

Bl) (#84) For spherical mirrors, the relation between radius of curvature(R) and the focal length (f) is e
ool A W asclBxa (R)UA Fosclolles () 2ol oitt 8.

(A)R =f (B)R = 2f
(C)R =3f (D) R = 4f
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The S unit of luminous intensity is :

A Algclell SIAsH D,
(A) candela 3odcil (B) ampere 3|22
(C) Kelvin (et (D) meter Hle?

-

Celestial bodies that revolved around planets are called

A&l AU gl uaaslell ueldlal s D,
(A) external planet ll&l & (B) internal planet MRS dls
(C) satellite GUaLs (D) comet YHkd

Unit of distance to measure the distance between celestial bodies is

uasiellal uelell o] vict? MUl AsH 8.
(A) savant year il ot (B) solar year 2 ol
(C) light year ustat cxl (D) Christian year @l ai

1 light year = km

As ysta oy = Bl

(A) 9.46 x 1012 (B) 9.46 x 1010
(C) 94.6 x 10*2 (D) 94.6 x 10%°
Boiling point of water is Kelvin.

WQllej Gesctotloly  3(EAot Slu B,

(A) 373 (B) 334
(C) 349 (D) 329

energy is stored in electric cell.

[Qgd Al Gl doteldcll B.

(A) light ustat (B) chemical 12\

(C) heat G™ (D) kinetic oL@
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1 l\) (114 If length of simple pendulum be 4 times, then its Periodic time will be .

[ o

%l AEL Actsoll cloltes 4 2Rl srauHl A Al Aol Aladsin A,

(A) 6 times more £ (G &
(C) 2 times more GHBN &L

Use of rectifier is to convert .

sz glaARe0 GullaL GlECal HIZ L 8.
(A) AC into DC AC ol DC Ml
(C) voltage as high to low ayell el ARl

Focal length of mirror is infinite.

el donclote dold Sl 8.
(A} convex oll@allnl

(C) concave ¥iclln

(B) unchanged $1&5 %2812 of a2l

(D) 4 times more AR QN ALA

(B) DCinto AC DCal AC Hi

(D) voltage as low to high ayjell et dleeasHi

(B) plane YHdA

(D) elliptical clolollal

The layer of gases surrounding the earth is called .

yeclofl 5a 2UAC clglloll wARRA ___ 53 B.

(A) troposphere 1UR¥02
(C) ozone ¥Alal

is a scalar quantity.

utal AR B.
(A) density oldll
(C) velocity Aol

is a vector quantity.

uglal AQ B,
(A) speed ®otcll

(C) velocity QaL

(B) atmosphere clcldREl

(D) hydrosphere %GR

(B) acceleration YAl

(D) displacement &loticl?

(B) temperature cllUHLal

(D) distance ¥iclR
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’LT:,' @17 Total basicSlunitsare
SlAsHoll o As B,

(A) 5 (B) 4
(C) 7 (D) 3
}47 (T18) Power of Mega and Hecto are ____
ol Al sl ofl el B,
(A) 106 Aol 10 (B) 106 el 102

(C) 102 ¥al 108 (D) 106 Vol 103

| % (¥t8) Wavelength of Gamma rays is
oML (32606{l R0t cdoues ydl 8.

(A)10¥m-101m (B)10*m -10% m
(C)10 ¥ m-10¥ m (D)10 ¥ m -10¥ m

/50 #20) Unit of densityis

Uolclloll AsH O,
(A) kg/m? (B) kg/m
(C) kg/mP (D) kg/m3

HHHHHHHHHHHH R S
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